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All the questions are compulsory.

Attempt any fwo parts from each question.
. (@ Solve: 6%
(2Zx + tan y) dx +r(xLx2 tan y)djz:O.

(b)Y Solve : 6%

%+5”;:yi3,y(1)=2.

(c) Solve : 6
P2 -9 + 18 = 0.
2 (@) Solve the initial value problem : 6Y

d’y . ;
Ez— + 4y = 8 sin 2x, 0) = 6, y'(0) = 8.
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Find the general solution of the differential

equation : 3 : 6%
d’ '
xl-_.zﬂ+ xﬂ +4y =2xIn x.
dx dx -
For the differential equation : 62
- 2 \ 4 i
B2 W aven

ax’ dx
show that & and &** are solutipns c_m‘ the interval
— o < x < oo Are these !inear{y independent ?
Justify.
Also find the solution that satisfies -tﬁe*conditions

n0) = 1, y(0) = 4.

Using the method of variation of parameters, solve the

differential equation : . 6
2 “
% + 4y = sec’ 2);.
Given that y = ¢** is a solution of ; 6

dy
(2x+l);':'—4(x+l)-%+4y=0,

find a linearly independent solution by reducing the

order. Write the general solution.
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(a)
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(c)

- (@)

()

Find the general solution of : 6
z
xzd—': = 6x£ +10y = 3x* + 6x°
dx dx

given that y = x2 and y = x° are linearly independent

solutions of the  corresponding homogeneous

-equation.

Solve : ‘ 6
. ad _ bdy o
-z (c-@x (a-bxy
Solve 6
& L dy
I—=#2=—=x+y=t=FL
dt dt *
é + ﬂ — =142
dt dt
Check condition of integrability and solve : 6

- 'zydx = xzdy + y*d-.
Eliminate the arbitrary f‘unéﬁon f from the equation : 6
R+ + 2, 2 2) =0
to form the con"espondi‘ng par-tial differential
equatioh.‘
Find the general integral of the partial differential
equation :° 6

X2+ 3 p-y G2+ y)g=20-2)
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®
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Show that the equation :

Xp = yg, 2xp + yg) = 2xy

are compatible and find their solution.

Find the complete integral of the equation :

Px + gy =z

Find the complete integral of the equation :

Paz = pHxq + PP + @op + P
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Reduce the following differential equation to canonical

form :
d’z 2322_0
& 7
4
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